
�� �������� ��� �������� ������� ���� ������

q1 = −Q

q2 = +2Q

����������� �� �� ��� ��������� ��������

������ ���� ��� ������ Q ��� ������ h ��� ����� �����������

��� ���� �� ��� ���� �E (�rP ) �� ��� ����� �rP = (h, h/2)�

��� ���� �� �rP ��� ����� �����

�E (�rP ) ������ �����

�E1 (�rP ) ������������� ���� q1�

�E2 (�rP ) ������������� ���� q2�



�� � ������� �������� ����� ��� �� � ������ �� (x, y) = (0, 0) ���� ������� �������� �v (t = 0) = vxî� �����
���������� � �������� d �� ���� � ������ � �������� d ���� ��� ������� ��� �������� �� ������� �� � ���������
�������� �������� �������� ���� �E = (0, Ey) ��� ���� ������ � ������� ������������ �g = (0,−g) ��� ��
��������

��� ���� ��� ������ h �� ����� ��� �������� ���� ��� ������ � �� �������� �� vx, Ey, g, ��� d.

��� ���� ����� �� Ey �� ��������� �� ������ ��� �������� ���� ��� ������ �� h = 0�

����� �� ��� ������ ����� ��� ����� ����� �� ��� �������� ���� �� �F = 0.



�� �������� ��� ��������� ����� ���� ���� ��� ����� ������� ������ ������� ��� ���� ������� λ. �� ��� ����
��� �������� �� ���� ��� �������� �� ���� ����� ��� ��������� �� � ���� �������� L� �� �� ��� ������
���� �� ��� ���� �E (�rP ) �� � ����� P ����� �� �� ��� z ���� �� � ������ z ����� ��� x− y ������

���� ���� ������ �� ����� �� ��� ���������� λ, L ��� z�

����� � ��������� ������� ��� ������� ��� �����

����� ��� ��� ������� ��� � ������ ��� � ��� ������������� ���������� �E = �E1 + �E2. ���� �� ���� ����

��� ������ �� ��� �������� ��� ������� �� � �������� ���������� ������



�� �������� �� ������� �������� ������ �� ����� ���� �������� �� ����� ��� ���� ��� ������� �� ��� ����
�� ����� �� ��� ��������

��� ��������� ��� ������������� ��������� V (x) �� � ����� P ������� �� ��� ������������ ���� �� ���
��������� �� ������ ��� ��� ���������� V (x → ∞) = 0. ���� ���� ������� �� � �������� �� x� ���
���� ������ a� ��� ��� ���������� ������ e� ���� � V (x) �� x �����

��� ���� �� ��� ������������ �� ��� ��������� ������ �� �� �������� ��� �� ��� ���� ���� ��� ��������
�� �� ��� ��������� ������� ��� �������� ��� ��� ��� �� ��� �������� ����� xP = a/2?



��� ��� ��� ������� �������� �� ������� �� ��������� ��� ����� �� �� �������� ���� �� �� �� ��������� ��������
�� ��� x������

�r = xî = (x, 0) .

����� �� ��������� �F = Fxî = (Fx, 0) . ��� ��� �F = −e �E ��� �E = −∇V �


